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oprintf(" < EFHFUFTFE>", <FENFEL>);
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. printf("weight=%.3If\n",w);

o printf("%d:%02d:%02d:%02d:9%03d\n",d,h,m,s,ms); // %02d i AFE2AT, BIE+M

« printf("%d %d\n",c,n); //iLZEEEGEH, %d %dHRENFEANSIEESEESH, 2SRRI RN

« printf("%c %c\n".c,n);  // BB RHERIIEF R




#include <iostream:

using namespace std;
int main()

{

double w=1234.56789;

printf("s.21£\n",w);//TEAS AT %21 F u B iR 26 | EIL B wHME, \nwElRITH, EERRLERTL
printf("weight=%.31f\n",W); TR T AT e 3P U B 3 s w, BRI weights
double x=1234.56789;

printf("sg\n",x); /B efluATET. \nBHERZEIRT
double y=1234567.89;

printf("sg\n",y); / /6B AR, R
double z=12.34;

printf("sg\n",z); / /e e R AT, SRR 4

int d=2,h=4,m=28,5=8,ms=74; P = BN N V==

printf("sd %d:%d:%d:%d\n",d,h,m,s,ms); // %dFEFHEHEILAT, BT HEGTE
printf("%d:%2d:%2d:%$2d:%3d\n",d,h,m,s,ms); [/ w3d IEEEL G 3uiuE, BEERLES
printf("$d:%02d:%02d:%02d:%03d\n",d,h,m,s,ms); // %02d L+ 22, BT@EFHO

char c; intn;

c=65; n='b"';

printf("sa $d\n",cn); //IFEEHL, %d %dP[ERIFTTRESEL, 207G, FHien
printf("sc  %c\n",c,n);  //%ctE TR IR

printf("$%.21f %.21£%%\n",W,Z); //P TR %.2IF %.21F9FH w2 e, %BEHAE, %EhL%

return 0;
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